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Sample Paper – 2009

Class – X

Subject – Mathematics
Time Allowed:  3 hours                                                                   M.M. 80

General instructions

(i) All the questions are compulsory.

(ii) The question paper consists of 30 questions divided into four sections A, B, C and D. Section A contain 10 questions of 1 mark each; section B contains 5 questions of 2 marks each, Section C contains 10 questions of 3 marks each, section D contains 5 questions of 6 marks each.   

(iii) There is no overall choice. However, an internal choice has been provided in one question of 2 marks, three questions of 3 marks each and two questions of 6 mark each.
Section A

1. Use Euclid’s algorithm to find the HCF of   615 and 154.

2. Write the nature of roots of quadratic equation 4x2+4√3 x + 3 = 0.

3. Write the polynomial, the product and sum of whose zeroes are -9/2 and -3/2 respectively.

4. For what value of k, are the numbers x, 2x+k and 3x+6 three consecutive terms of an AP.

5. In a triangle ABC. DE parallel to BC. If DE = 2/3 BC and area of triangle ABC = 81 cm2, find the area of triangle ADE.

6. If Sec A = 15/7 and A +B = 90°, Find the value of Cosec B.

7. The length of the minute hand of a wall clock is 7 cm. How much area does it sweep in 20 minutes?

8. [image: image1.png]Write whether the following pair of linear equations is consistent or not:

                 X + y = 14, x – y = 4                                     

9. Find the number of zeroes.             X                        o                            x’              

10. Find the distance between the points (-8/5, 2) and (2/5, 2).

SECTION B

11. If the polynomial 6x4+8x3+17x2+21x+7 is divided by another polynomial 3x2+4x+1, the remainder comes out to be (ax+b), find a and b.
12. If Sn, the sum of first n terms of an AP is given By Sn= 3n2-4n, then find the nth term.
13. Simplify   sin3A + Cos3A)/ (Sin A + Cos A) + Sin A. CosA
14. Find the value of k for which the pair of linear equations kx +3y = k-2 and 12 x +ky = k has no solution.
15. For what value of p are 2p+1, 13, 5p-3 three consecutive terms of an AP.?
Section c

16. Prove that √7 is an irrational number.

17. Solve the following pair of equations:

            5/(x-1) + 1/ (y-2) = 2

            6/ (x-1) – 3/ (y-2) = 1

18. Construct a ∆ABC in which BC = 6.5cm, AB = 4.5 cm and angle ABC = 60°. Construct a triangle similar to this triangle whose sides are ¾ of the corresponding sides of the triangle ABC.
19. The sum of 4th and 8th terms of an AP is 24 and sum of 6th and 10th terms is 44. Find AP. 


20.   In figure DEFG is a square and angle BAC = 90°. Show that DE2 = DB x EC.
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21.  The line segment joining the points A (2, 1) and B (5, 8) is trisected at the points P and Q such that P is nearer to A. If P also lies on the line given by 2x-y+k = 0, find the value of k.                                            OR 

          In the adjoining figure, ∆ABC and ∆DCX are equilateral. D is the mid-point of BC. AX cuts BC at Y. prove that (I) ∆ABY similar to ∆YCX (ii) 2 XC = AB (iii) BY = 2 YC.          A
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22. Find the point on y-axis which is equidistant from the points (5,-2) and (-3, 2).

                                                                        OR

            ABC is in isosceles triangle in which AB=AC=10cm. BC=12 cm. PQRS is a rectangle inside the isosceles triangle. Given PQ=SR=y cm and PS=QR=2x cm. prove that x= 6 – 3y/4.
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23.  In figure PQ = 24 cm, PR = 7 cm and O is the centre of the circle. Find the area of shaded region (take π= 3.14)




                                                                                                                                                                                                          


24. The king, queen and jack of clubs are removed from a deck of 52 playing cards and the remaining cards are shuffled. A card is drawn from the remaining cards. Find the probability of getting a card of (I) heart (ii) queen (iii) clubs.

25. Without using trigonometrically tables, evaluate:

   Cos58°/ sin 32° + sin22°/cos68° - (cos 38° cosec 52°)/ (tan 18° tan35° tan60° tan72° tan55°)

SECTION D

26.  Find the median wage of the worker from the following frequency distribution table

                             Wage (in rupees)                No of workers

                              More than 150                               0

                              More than 140                              10         

                              More than 130                              29

                              More than 120                              60

                              More than 110                             104

                              More than 100                             134

                              More than 90                               151  

                              More than 80                               160

27. The angle of elevation of a cloud from a point 200m above the lake is 300 and the angle of depression of the reflection of the cloud in the lake is 600. Find the height of the cloud.

28. A solid consisting of a right cone standing on a hemisphere is placed upright cylinder full of water and touches the bottom. Find the volume of the water in the cylinder, if the radius of the cylinder is 60 cm and its height is 180cm, the radius of the hemisphere is 60 cm and the height of the cone 120 cm, assuming that the hemisphere and the cone have common base.

29. Sides AB and AC and median AN of ∆ABC are respectively proportional to sides PQ and PR and median PM of another ∆PQR. Prove that ∆ABC  similar to ∆PQR.

30. The difference between outside and inside surface areas of cylindrical metallic pipe 14 cm long is 88cm2. If the pipe is made of 198 cm3 metal, find the outer and inner of the pipe.
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